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Page	3	Page	2Page	2Paul	says:.	"With	a	Deboid,	we	have	the	same	probability	of	getting	at	least	a	six	of	throws	than	to	get	at	least	two	to	six	with	8	shots"	Association	.SolutionPage	3a	composed	of	25	Adhes	organizes	each	year	a	general	assembly.	Statistics	show	that	any	adhesive	supports	(independent	of	other	members)	at	the	meeting	with	the
probabilities	of	65%.	The	decisions	taken	from	assembled	have	no	standard	value	only	when	more	than	the	membership	is	frequented	the	assembly.	General	assembly	is	the	probability	that	at	the	next	assembly,	the	quorum	is	reached?	Exercise	courses	and	correct	online	math	courses	in	operation	of	the	baccalaura	terminal	in	Lebanon	2003,	on	the
binomial	Law	an	urn	contains	four	black	balls	and	two	white	balls.	Or	a	whole	upper	natural	or	2.	We	carry	out	the	proof	that	consists	of	shooting	a	ball	and	then	put	it	back	in	the	urn;	It	is	assumed	that	all	the	balls	have	the	same	probability	of	being	extracted	and	the	prints	are	independent.	We	note	the	probability	of	getting	exactly	a	blank	ball
during	the	first	draws	and	a	white	ball	at	the	same	draw.	Question	1	Calculate	probability	(values	​​in	the	form	of	a	fraction	chosen	from	a	point	and	comma).	Question	2	We	consider	the	following	events:	"A	white	ball	is	drawn	during	the	draw,"	a	white	ball	and	one	during	the	first	volge	to	a.a	Calculate	the	probability	of	the	element.	B.	Express	the
odds	of	the	second	element.	c)	For	the	question	3	we	ask	ourselves:.	A.	'Demonstrate	from	the	recession	only	for	any	whole	natural	upper	or	for	2,	we	have:	B.Ã	¢	fine	the	limit	of	the	continuation.	Exercise	of	the	baccalaurer	2000	On	the	binomial	law	the	results	will	be	transferred	to	close.	A	company	entrusts	a	telephone	survey	company	an
investigation	into	the	quality	of	its	products.	Each	survey	has	a	list	of	people	to	contact.	At	the	first	phone	call,	probability	for	the	correspondent	are	absent.	If	the	correspondent	is	present,	the	probability	so	that	he	agrees	to	answer	the	questionnaire	is.	Question	1	Note:	the	"person	is	absent	during	the	first	callÃ	¢,";	The	"person"	undertakes	to
answer	the	questionnaire	during	the	first	call	to	"Ã	¢.	What	is	the	probability	of?	Question	2	When	a	person	is	absent	during	the	first	call,	it	is	the	second	time,	at	a	different	time,	And	therefore	the	probability	of	that	is	absent.	And	knowing	that	she	is	presented	in	second	call,	the	probability	of	that	she	agrees	to	answer	the	questionnaire	is	still.	If	a
person	is	absent	during	the	second	call,	let's	try	not	More	contact	with	you.	We	note:	the	event	"The	person	is	absent	during	the	second	callÃ	Ã,";	the	event	"The	person	agrees	to	answer	the	questionnaire	during	the	second	call	to";	the	event	"The	person	agrees	to	answer	the	questionnaire"	Ã	¢.	Calculate	the	probability	of.	Question	3	Know	a	person
has	agreed	to	answer	the	questionnaire,	what	is	the	probability	for	the	answer	to	the	first	call?	Question	4	Let's	start	from	the	assumption	that	the	surveys	with	The	people	of	a	very	independent	list.	A	I	Nwetigator	has	a	list	of	20	people	to	contact.	What	is	the	probability	for	more	than	4	people	in	the	list	they	realize	to	answer	the	questionnaire?
(Current	value)	Exercise	on	binomial	law:	Production	control	A	company	produces	electronic	components	every	day.	Each	component	has	a	default	with	probability.	If	the	component	is	identified	as	defective,	second	constant	from	society	and	each	component	already	losing	Ã	¢,	â¬	Question	1	The	components	are	one-to-one	and	each	control
controlled.	What	is	the	middle	of	the	day	for	the	company	(controls	and	destruction	of	defective	components)?	Question	2	The	components	are	batch	together	and	a	single	automatic	control	of	each	batch	is	carried	out,	also	euro.	As	a	result	of	this	control,	the	batch	is	accepted	if	all	components	are	healthy	and	generally	decorated	if	there	is	at	least
one	of	the	components	in	default	10.	What	is	the	daily	means	for	the	company	to	this	new	device	(the	control	and	destruction	of	defective	components)?	Correction	of	a	degree	in	Lebanon	the	binomial	Law	Question	1..	Question	2	a.	.A	b.	Where	is	the	scale	variable	with	the	number	of	white	balls	obtained	in	the	first	extraction.	It	follows	a	binomial
parameters	and	then.	Vs.	We	can	then	write:	Question	3	a.	We	notice	if	and	,.	Ã	initialization.	If,	and	so	we	have	proved	that	it's	true.	It	assumed	that	it's	true.	So	we	have	shown.	Ã	Conclusion:	The	property	is	true	rank.	B.	We	determine	the	extent	of	the	sequel	when.	We	note	with	well	then	either.	.	Correction	Exercise	Baccalaurer	2000	on	binomial
Question	1.	Question	2	We	use.	Then,	as	well	as	the	incompatible	events	,.	Question	3	We	ask	now.	Question	4	There	are	20	trials	of	Indian	and	identical	Bernoulli	probability	Â	©	success	of	the	application.	Correction	of	exercise	on	the	control	of	production	Question	1	is	the	number	of	defective	parts,	follows	a	binomial	law	and	parameters.	The	cost
of	control	is,	the	co-t	scrapped.	The	panicle	is.	It	established	the	cohale	media.	Question	2	is	a	lot	of	10	data.	The	probability	that	it	is	not	decreeted	is	downsizing.	The	probability	is	that	it	is	scaling	down.	The	number	of	lots	already	follows	a	binomial	law	is	established	parameters	and	co-core.	The	media	is	core	or	ie.	It	therefore	has	a	decrease	in	the
cost	of	vanding	/	destruction.	also	show	the	other	chapters	on	mathematical	terminal	program	to	successfully	achieve	the	tray:	a	bag	of	tulip	bulbs,	60%	of	them	will	give	white	tulips.	There's	a	sample	of	24	bulbs.	The	variable	variable	is	set	to	the	number	of	light	bulbs	that	will	give	white	tulips.	What	is	the	law	of	probability	of	Ã?	Solution	the	help	of
the	calculator	or	spreadsheet,	complete	the	following	table	by	distributing	the	values	​​to	millilek89101112	17.18192	million	...	...	P	(x	=	k)	..	....	p	(XA	â	°	Â¤k	)	......	Indicated	the	help	of	the	sheet,	a	table	can	be	carried	out	in	this:	the	formula	in	cell	B2	is	=	law.binomial	(B1;	24;	0.6;	0)	the	formula	listed	in	cell	B3	is	=	law.binomial	(B1;	24;	0.6;	1)	the
last	parameter	(0	or	1)	indicates	whether	the	law	is	not	accumulated	or	cumulative.To	knows	how	to	proceed	to	the	calculator,	to	reapply	video	proposed	below.Calculian	the	binomial	law	on	the	interview	of	the	binomial	law	of	Casiosolutionen	DiÃ¨re	L	95%	fluctuation	threshold	indexobserver	interval	obtained	in	the	table	above	the	values	​​A	and	B	of
K	for	which	the	thresholds	of	0,025	and	0,975	are	prescribed.	SolutionPage	2Page	3on	considered	a	population	for	which	it	is	assumed	that	the	proportion	of	a	character	is	p.	To	validate	this	Hypothese,	we	randomly	presented	a	sample	of	size	we	observe	the	frequency	F	of	the	character	in	this	sample.On	determines	a	fluctuation	interval	on	the
threshold	of	95%	as	in	the	precise	4on	paragraph.page	considers	the	Hypothese	that	presents	a	character	in	a	population	with	a	proportion	P.on	observes,	on	a	sample	size	N,	the	frequency	F	of	this	character.On	fluctuation	determines	the	range	to	the	threshold	of	95%	of	the	binomial	law	b	(N;	P):	if	the	observed	is	the	oscillation	interval,	we	accept
the	hypothesis	on	P	with	a	probability	of	95%.	If	the	observed	frequency	does	not	belong	to	the	fluctuation	interval,	refuses	the	'hypothesis	on	P	with	a	probability	of	5%	of	being	Mistaken	.Example	you	find	the	hypothense	that	a	character	is	presented	in	a	population	with	a	percentage	of	0.516.on	observes,	on	a	sample	of	50,	the	fragmentation	of	this
character	and	we	find	f	=	0.4.on	invited	to	the	question	if	this	frequency	is	"compatible	"With.	The	Hypothese	consists	of	the	bar	chart	below	represents	the	binomial	law	B	(50;	0.516).	It	can	justify	(using	a	sheet	for	example)	that	the	95%	fluctuation	threshold	range	is	obtained	with	a	=	19	eb	=	33,	it	is	therefore	the	interval	of:	interval	this	is
obtained	"by	rejecting"	the	values	​​lower	than	a	(and	corresponding	At	a	probability	of	2.5%)	and	the	values	​​higher	than	B	(and	corresponding	to	u	oddly	2.5%).	The	observed	fragment	is	in	the	95%	fluctuation	threshold	range,	the	hypothesis	according	to	the	character	is	presented	with	a	proportion	of	0.516	is	not	rejected.	Note	6	are	tables.	Does	the
percentage	of	20%	of	tables?	plausible	to	observe	the	indexed	sample	to	complete	the	interval	95%	threshold	fluctuation	using	'a	binomial	law	that	will	be	given	the	parameterresolutionpage	6a	company	produces	two-color	plastic	boxes:	green	and	blue.The	manufacture	is	automated	and	the	machine	is	Relent	at	a	level	of	42%	green	boxes	and	58%
blue	boxes,	corresponding	to	the	test	request	.a	market	is	made	on	a	sample	of	180	boxes	prevailed	randomly.	Includes	examples	so	much	BO	blue	waste	of	green	boxes.	The	machine	has	dropped	from	how	many	blue	boats	and	green	boxes	obtained	on	a	sample	of	180	boxes	should	we	think	that	the	car	has	delegrant?	SOLUTIONPAGE	7atto,	your
browser	does	not	support	JavaScript	or	has	been	sacrificed.	Some	dynamic	features	of	this	module	are	limited.	For	this	last	self-assessment	test,	you	need	to	get	a	minimum	of	80%	of	good	tanks.	In	case	of	control,	reject	the	course	section	that	has	been	difficult	and	try	again	the	test.page	8Farcy	Emmanuel	-	Lecluse	Olivier2.0mai	2015	2015
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